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Administrator
出力書類


HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
HEHE R
= 1 215, 450, 167
JE T
= 1 158, 846, 473
I L
= 1 147, 030, 000
I +H
m3 50, 000 152.7 7,635, 000
b TE b Cash ERIRY L&)
= 1 133, 500, 000
L
= 1 5, 895, 000
2N
= 1 6, 688, 100
PR (LR B
m3 2,000 219.2 438, 400
b S TE b Cash ERIRY L&)
= 1 5,927, 400
FEIA O=27) +H
= 1 322, 300
BEREE T
= 1 3, 461, 950
AR 1
m3 1, 000 337.1 337, 100
b TE b Cash ERIRY L&)
= 1 2,963, 700
FEIA O=27) +H
= 1 161, 150
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THEX Sy« TH - FERI - HH50 B PO B B G AT & # i E (A5
R T
= 1 1, 666, 423
EE R (B) 1350) VIE R K OV R+
m2 1,970 845.9 1, 666, 423
Mgt R T
= 1 18, 759, 306
HEXTESKRT
= 1 18, 759, 306
TE%E W} O+ B EHIS N 100kg/
3 LAV NREEM (—R%ERES )
m3 6, 400 2,895 18, 528, 000
B AR E S B E - s
= 1 231, 306
PERE T
= 1 15, 958, 239
L S
= 1 15, 958, 239
VT ATRAIA VG ISR 30 EE30~40kN/mAH
m2 762 1,439 1,096, 518
VT ATRAIA VI ISR 30 BE50~60kN/mAH
m2 1,134 1,613 1,829, 142
FEHL - BHBHL, HiED
m3 2, 800 1,047 2,931, 600
FAE K C-40
m3 317 4,237 1, 343,129
FEIA O—=27) +H
= 1 454, 150
b S TE D CEUL EHRY HET)
= 1 8, 303, 700
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THEX Sy« TH - FERI - HH50 MoK PO B B G AT & # T (G E LM
AnT=h L
= 1 15, 102, 780
7" VR ANV = I
= 1 15, 102, 780
7" VEYAME 9)A BX (R)-S (a1) -B3000 X H3000
m 30 503, 426 15, 102, 780
Pk A& L
= 1 4,749, 829
LI
= 1 2,698, 189
7" VA NURLR T PUT-B300-L2000
m 170 9, 400 1, 598, 000
5 CT-B300-L500
bie 306 2,637 806, 922
5 SG2T-300-1995
bie 17 17, 251 293, 267
BT
= 1 345, 350
ta-hiF (BIBAE) HP1-R1-D1000
m 5 69, 070 345, 350
HEAKT
= 1 1,571, 590
UNEEE FiR BF- 1 -B300-L2000
m 230 6,833 1,571, 590
AR T
= 1 134, 700
AKFHEK W600 X t7 (V7" U ifi)
m 100 1, 347 134, 700
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THEX Sy« TH - FERI - HH50 B BT & GEL & i T (G E LM
&ML T
= 1 392, 790
M EUE L 1T
= 1 182, 990
av)) - M IS B L AT HEEY)
m3 20 163, 020
A AR A TAT 7V IMEREERR EHEERRE 15emll T
m2 100 19, 970
TEHRALER T
= 1 209, 800
Prau kil 2y -k (SR
m3 20 65, 680
Prau kil TAT 7V bk
m3 10 47, 160
LGy 2y -k (SR
m3 20 64, 640
LGy TAT 7V bk
m3 10 32, 320
e
= 1 1, 640, 750
RImE T
= 1 1, 640, 750
AR B
= 1 868, 050
ZRFE AR B
= 1 772, 700
B T HE
= 1 215, 450, 167
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
B R
= 1 26, 005, 363
BTl TE:
= 1 2,753, 661
TR
= 1 896, 792
T RR A oy FRAR ST A R
= 1 896, 792
Htre m
= 1 69, 335
B i % FEARTT ARG
= 1 53, 928
A7 b R BR
= 1 6, 695
VAR AN Y g
= 1 8,712
BUGERRYGEE (5 1)
= 1 1,787,534
HimE R (FE L)
= 1 23, 251, 702
Wi
= 1 241, 455, 530
BTk X=giiv oy
= 1 77, 445, 448
R 5]
= 1 318, 900, 978
— e
= 1 46, 099, 022
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
Tk
= 1 365, 000, 000
THE B 2 %8
= 1 36, 500, 000
TG
= 1 401, 500, 000
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